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Abstract

The electric light line LAN using spectrum diffusion

Daisuke SATO

Now, the connection environment which used apparatus other than a computer
with the increase in service by the Internet is expanded. Also in a household-electric-
appliances field, it is going to offer service by home electronics with the IP address.
Construction of LAN is needed for connecting these home electronics to the Internet.
The ease of connection changes with obstacles by the indoor structure where Cable LAN
and the wireless LAN by the dedicated line build LAN etc.

Therefore, it notes that installation and wiring become unnecessary by using the
electric light line by which it has already wired indoors. If an electric light line is made
into a transmission way, by change of a noise and the transmission way characteris-
tic, distortion of a signal will take place, the efficiency of data communications will be
reduced, and the rate of an error will become large. Then, the transmission way char-
acteristic carries out data communications by the noise etc. by the spectrum diffusion
which can generally be used also on the transmission way which is not good. However,
in spectrum diffusion, since distortion of a signal cannot be compensated, the efficiency
of data communications does not become good.

This research examines the system which makes small the rate of an error by dis-

tortion compensation, in order to improve efficiency of data transmission and reception.

key words spectrum diffusion The electric light line LAN The rate of an error

distortion compensation
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